Opérations Mixtes (A)

Effectuez chaque opération.

18 16 162 18 20 18 162 2 18 324

8 18 - 18 x 9 x 18 x 4 =+ 18 18 13 =~ 18

36 18 216 1 360 20 324 324 234 198
18 19 ~ 18 x 18 = 18 x 18 + 18 + 18 =+ 18 18
288 2 90 72 2 18 270 4 36 72
18 18 + 18 = 18 x 18 x 1 = 18 18 18 18
252 11 108 18 1 18 36 18 9 18

= 18 18 - 18 x 6 x 18 x 19 = 18 11 18 16
234 18 18 216 36 216 18 36 90 18

= 18 12 x 2+ 18 =+ 18 + 18 x_ 11 18 18 12
18 198 8 180 18 18 1 17 2 324
18 18 x 18 =+ 18 =+ 18 x_ 14 x_ 18 18 18 +~ 18

1 234 18 54 144 162 13 54 288 36

18 + 18 x 9 + 18 + 18 =+ 18 x 18 18 =~ 18 18

18 18 8 162 18 252 342 108 126 72

4 18 x 18 = 18 x 20 <+ 18 =+ 18 18 18 18

90 18 12 18 3 15 10 306 8 216
18 S x 18 x 18 x 18 x 18 x 18 + 18 18 =~ 18

8 18 13 15 126 18 18 11 18 252

18 6 x 18 x 18 + 18 x 18 x 1 18 18 =~ 18
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Opérations Mixtes Solutions (A)

Effectuez chaque opération.

18 16 162 18 20 18 162 2 18 324

X 8 18 - 18 x 9 x 18 x 4 — 18 x 18 13 - 18
144 288 9 162 360 72 9 36 234 18
36 18 216 1 360 20 324 324 234 198

- 18 19 - 18 x 18 = 18 x 18 = 18 = 18 = 18 18
2 342 12 18 20 360 18 18 13 11

288 2 90 72 2 18 270 4 36 72

- 18 18 - 18 =- 18 x 18 x 1 - 18 x 18 18 18
16 36 5 4 36 18 15 72 2 4
252 11 108 18 1 18 36 18 9 18

- 18 18 - 18 x 6 x 18 x 19 - 18 x 11 18 16
14 198 6 108 18 342 2 198 162 288
234 18 18 216 36 216 18 36 90 18

- 18 12 x 2 - 18 = 18 = 18 x 11 = 18 18 12
13 216 36 12 2 12 198 2 5 216

18 198 8 180 18 18 1 17 2 324

x 18 I8 x 18 - 18 = 18 x 14 x 18 x 18 18 — 18
324 11 144 10 1 252 18 306 36 18

1 234 18 54 144 162 13 54 288 36

x 18 = 18 X 9 - 18 - 18 = 18 x 18 =— 18 = 18 18
18 13 162 3 8 9 234 3 16 2

18 18 8 162 18 252 342 108 126 72

X 4 18 x 18 - 18 x 20 =- 18 = 18 = 18 18 18
72 324 144 9 360 14 19 6 7 4

90 18 12 18 3 15 10 306 8 216

- 18 5 x 18 x 18 x 18 x 18 x 18 = 18 18 =— 18
5 90 216 324 54 270 180 17 144 12

8 18 13 15 126 18 18 11 18 252

x 18 6 x 18 x 18 - 18 x 18 X 1 x 18 18 — 18
144 108 234 270 7 324 18 198 324 14
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Opérations Mixtes (B)

Effectuez chaque opération.

17 18 54 180 9 126 18 18 15 324
18 18 - 18 =+ 18 x 18 + 18 12 18 18 =~ 18
54 10 18 18 198 19 18 144 18 14
18 18 x 12 x 14 + 18 x 18 12 18 15 18
18 18 18 198 342 18 7 180 18 1
17 13 x 13 =+ 18 =+ 18 x 16 18 18 2 18
18 18 360 18 252 306 342 15 2 126
14 17 =~ 18 = 18 =~ 18 + 18 18 18 18 18
7 306 252 18 90 18 342 108 36 5
18 18 =~ 18 x 1 =+ 18 + 18 18 18 18 18
162 8 126 18 20 3 18 144 126 234
18 18 =~ 18 x 13 x 18 x 18 18 18 18 +~ 18
342 18 144 18 126 36 18 18 20 126
18 4 - 18 x 1 =+ 18 + 18 7 10 18 18
18 108 324 18 108 8 17 108 6 198
17 18 - 18 x 14 + 18 x 18 18 18 18 18
306 18 18 18 270 18 18 17 180 5
18 8 x 19 = 18 + 18 x 8 16 18 18 18
18 288 8 18 324 18 18 20 18 12
9 + 18 x 18 x 6 + 18 x_ 7 8 18 5 18
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Opérations Mixtes Solutions (B)

Effectuez chaque opération.

17 18 54 180 9 126 18 18 15 324

X 18 I8 - 18 - 18 x 18 = 18 x 12 x 18 18 — 18
306 1 3 10 162 7 216 324 270 18
54 10 18 18 198 19 18 144 18 14

- 18 18 x 12 x 14 - 18 x 18 x 12 = 18 15 18
3 180 216 252 11 342 216 8 270 252

18 18 18 198 342 18 7 180 18 1

x 17 13 x 13 - 18 = 18 x 16 x 18 = 18 2 18
306 234 234 11 19 288 126 10 36 18
18 18 360 18 252 306 342 15 2 126

x 14 17 - 18 - 18 - 18 =— 18 = 18 x 18 18 18
252 306 20 1 14 17 19 270 36 7

7 306 252 18 90 18 342 108 36 5

x 18 = 18 = 18 X ] =- 18 - 18 =— 18 = 18 18 18
126 17 14 18 5 1 19 6 2 90
162 8 126 18 20 3 18 144 126 234

- 18 18 - 18 x 13 x 18 x 18 x 18 = 18 18 — 18
9 144 7 234 360 54 324 8 7 13

342 18 144 18 126 36 18 18 20 126

- 18 4 — 18 x 1 - 18 = 18 x 7 x 10 18 18
19 72 8 18 7 2 126 180 360 7

18 108 324 18 108 8 17 108 6 198

x 17 18 - 18 x 14 =- 18 x 18 x 18 = 18 18 18
306 6 18 252 6 144 306 6 108 11
306 18 18 18 270 18 18 17 180 5

- 18 8 x 19 = 18 = 18 Xx 8 x 16 x 18 18 18
17 144 342 1 15 144 288 306 10 90

18 288 8 18 324 18 18 20 18 12

X 9 —- 18 x 18 x 6 - 18 x 7T X 8 x 18 5 18
162 16 144 108 18 126 144 360 90 216
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Opérations Mixtes (C)

Effectuez chaque opération.

342 18 90 162 15 54 9 54 17 17
18 x 18 + 18 =~ 18 x 18 = 18 x 18 = 18 x 18 x 18
198 13 9 18 14 270 252 14 234 18
18 x 18 + 18 x 8 x 18 = 18 + 18 x 18 = 18 7

54 162 18 180 12 18 10 306 126 9

18 = 18 x 16 ~ 18 x 18 = 18 x 18 = 18 = 18 x 18

6 18 15 20 18 18 252 9 108 180

18 7 x 18 x 18 x 8 4+ 18 x 18 = 18 = 18

72 18 252 18 19 18 270 15 18 8

18 7 + 18 x 17 x_ 18 = 18 = 18 x_ 18 x_ 18 x_ 18
270 18 342 342 4 18 18 270 324 8

. 18 = 18 + 18 = 18 x_ 18 7 x 5+ 18 + 18 x_ 18
180 9 18 18 342 18 19 18 216 342
18 x_ 18 x_ 17 x_ 16 = 18 1 x 18 8 = 18 = 18

54 15 18 8 18 306 216 216 18 18

18 x 18 = 18 x 18 x 8 = 18 = 18 = 18 = 18 = 18

19 1 54 252 18 18 14 2838 18 3

18 x 18 = 18 = 18 x_ 9 9 x 18 + 18 x 18 x 18
234 18 11 18 18 252 18 36 108 18

. 18 = 18 x 18 x 9 x 13 = 18 = 18 + 18 = 18 6
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Opérations Mixtes Solutions (C)

Effectuez chaque opération.

342 18 90 162 15 54 9 54 17 17
18 18 - 18 - 18 x 18 = 18 x 18 = 18 18 18
19 324 5 9 270 3 162 3 306 306

198 13 90 18 14 270 252 14 234 18
18 18 - 18 x 8 x 18 = 18 = 18 x 18 = 18 7
11 234 5 144 252 15 14 252 13 126
54 162 18 180 12 18 10 306 126 9
18 18 x 16 - 18 x 18 = 18 x 18 = 18 18 18

3 9 288 10 216 1 180 17 7 162
6 18 15 20 18 18 252 9 108 180
18 7 x 18 x 18 x 8 X 4 — 18 x 18 18 18

108 126 270 360 144 72 14 162 6 10
72 18 252 18 19 18 270 15 18 8
18 7 = 18 x 17 x 18 = 18 =- 18 x 18 18 18

4 126 14 306 342 1 15 270 324 144

270 18 342 342 4 18 18 270 324 8

= 18 18 - 18 - 18 x 18 x 7 X 5 = 18 = 18 18
15 1 19 19 72 126 90 15 18 144

180 9 18 18 342 18 19 18 216 342
18 18 x 17 x 16 = 18 x 1 x 18 X 8 - 18 = 18
10 162 306 288 19 18 342 144 12 19
54 15 18 8 18 306 216 216 18 18
18 18 - 18 x 18 x 8 — 18 = 18 = 18 18 18

3 270 1 144 144 17 12 12 1 1

19 1 54 252 18 18 14 288 18 3

18 18 - 18 =- 18 x 90 X 9 x 18 = 18 18 18
342 18 3 14 162 162 252 16 324 54
234 18 11 18 18 252 18 36 108 18

= 18 18 x 18 x 9 x 13 = 18 — 18 = 18 18 6
13 1 198 162 234 14 1 2 6 108
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Opérations Mixtes (D)

Effectuez chaque opération.

216 180 324 18 20 10 198 5 18 18
18 = 18 = 18 x 10 x 18 x 18 = 18 x 18 x 6 x 10

306 126 18 18 5 54 18 16 13 5
18 + 18 x 2 x 18 x 18 =+ 18 x 16 x 18 x 18 x 18

108 18 18 18 18 18 162 306 270 162
18 X 1 x 6 X 3 X 4 x 14 - 18 - 18 =- 18 = 18

198 18 18 144 20 288 2 306 18 18
18 X 2 - 18 - 18 x 18 = 18 x 18 = 18 x 17 x 12

18 18 54 18 15 306 18 342 18 324
18 ~ 18 = 18 x 10 x 18 = 18 x 10 = 18 x 3 + 18

18 18 18 18 36 18 10 8 13 288

360 324 252 5 126 234 17 18 126 306
- 18 + 18 = 18 x 18 = 18 = 18 x 18 x 17 + 18 + 18

18 360 18 234 18 234 288 216 18 180
19 =~ 18 x 11 = 18 x 19 = 18 =+ 18 + 18 x 18 + 18

20 19 288 18 54 360 6 18 18 288
18 x 18 = 18 x 2 + 18 + 18 x 18 x 20 x 20 + 18

216 360 342 17 18 20 10 18 144 3
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Opérations Mixtes Solutions (D)

Effectuez chaque opération.

216 180 324 18 20 10 198 5 18 18
18 18 =~ 18 x 10 x 18 x 18 18 18 6 10
12 10 18 180 360 180 11 00 108 180

306 126 18 18 5 54 18 16 13 5
18 18 x 2 x 18 x 18 = 18 16 18 18 18
17 7 36 324 90 3 288 288 234 90

108 18 18 18 18 18 162 306 270 162
18 1 x 6x 3x 4x 14 18 ~ 18 = 18 18

6 18 108 54 72 252 9 17 15 9

198 18 18 144 20 288 2 306 18 18
18 2 - 18 + 18 x 18 + 18 18 ~ 18 17 12
11 36 1 8§ 360 16 36 17 306 216
18 18 54 18 15 306 18 342 18 324
18 18 = 18 x 10 x 18 = 18 10 =~ 18 3 - 18

1 1 3180 270 17 180 19 54 18

18 18 18 18 36 18 10 8 13 288

3 17 x 17 x 3 = 18 x_ 16 18 18 18 ~ 18

54 306 306 54 2 288 180 144 234 16
360 324 252 5 126 234 17 18 126 306

. 18 = 18 + 18 x 18 = 18 = 18 18 17 18 = 18
20 18 14 90 7 13 306 306 7 17

18 360 18 234 18 234 288 216 18 180

19 = 18 x 11 +— 18 x 19 — 18 = 18 = 18 18 18

342 20 198 13 342 13 16 12 324 10
20 19 288 18 54 360 6 18 18 288
18 18 ~ 18 x 2 = 18 = 18 18 x 20 x 20 =+ 18

360 342 16 36 3 20 108 360 360 16

216 360 342 17 18 20 10 18 144 3

- 18 = 18 = 18 x 18 x 4 x 18 18 16 18 18
12 20 19 306 72 360 180 288 8§ 54
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Opérations Mixtes (E)

Effectuez chaque opération.

18 18 18 126 288 90 18 18 162 18

x_ 20 3 x 10 = 18 + 18 = 18 x_ 18 2 = 18 8
18 6 324 18 324 15 342 6 18 90

x 6 x 18 + 18 x 17 + 18 x 18 = 18 x 18 x 18 = 18
180 270 18 324 9 360 18 342 144 198

L 18 = 18 x 20 = 18 x 18 = 18 x 14 = 18 = 18 = 18
360 318 5 144 342 18 324 126 126

= 18 x_ 18 x_20 x_18 = 18 = 18 x 8 = 18 = 18 = 18
270 18 180 18 306 360 18 54 252 108

= 18 x 11 18 x 6+ 18 = 18 « 18 + 18 = 18 + 18
324 324 90 12 54 72 13 13 12 324

= 18 + 18 + 18 x 18 = 18 =+ 18 x 18 x 18 x 18 + 18
306 7 126 18 324 234 198 270 72 18

+ 18 x_18 = 18 x_16 ~ 18 + 18 + 18 + 18 + 18 x_ 13
36 270 5 18 144 198 18 5 180 90

= 18 = 18 x_ 18 x5 = 18 = 18 x5 x_ 18 = 18 =~ 18
216 18 306 18 108 4 234 288 342 288

= 18 5+ 18 x 18 + 18 x_ 18 = 18 + 18 = 18 = 18
54 324 342 5 18 18 4 72 18 342

= 18+ 18 = 18 x 18 x 1 x 19 x_ 18 = 18 x 15 + 18
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Opérations Mixtes Solutions (E)

Effectuez chaque opération.

18 18 18 126 288 90 18 18 162 18

x 20 3 10 =~ 18 + 18 +— 18 x 18 2 18 8
360 54 180 7 16 5 324 36 0 144
18 6 324 18 324 15 342 6 18 90

x 6 18 ~ 18 x 17 +— 18 x 18 = 18 18 18 18
108 108 18 306 18 270 19 108 324 5
180 270 18 324 9 360 18 342 144 198

= 18 + 18 x 20 ~ 18 x 18 = 18 x 14 = 18 18 18
10 15 360 18 162 20 252 19 8 11
360 3 18 5 144 342 18 324 126 126

= 18 18 x 20 x 18 + 18 = 18 x 8 = 18 18 18
20 54 360 90 8 19 144 18 7 7
270 18 180 18 306 360 18 54 252 108

~ 18 11 18 x 6+ 18 + 18 = 18 18 = 18 18
15 198 10 108 17 20 1 3 14 6
324 324 90 2 54 72 13 13 12 324

= 18 + 18 18 x 18 = 18 + 18 x 18 18 18 = 18
18 18 5 216 3 4 234 234 216 18
306 7 126 18 324 234 198 270 72 18

= 18 18 18 x 16 ~ 18 ~ 18 = 18 + 18 18 13
17 126 7 288 18 13 11 15 4 234

36 270 5 18 144 198 18 5 180 90

= 18 = 18 18 x 5+ 18 + 18 x5 18 18 18
2 15 90 90 8 11 90 90 10 5

216 18 306 18 108 4 234 288 342 288

= 18 5+ 18 x 18 ~ 18 x 18 = 18 ~ 18 = 18 = 18
12 90 17 324 6 72 13 16 19 16

54 324 342 5 18 18 4 72 18 342

+ 18 =+ 18 = 18 x 18 x 1 x 19 x 18 18 15 = 18
3 18 19 90 18 342 72 4 270 19
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Opérations Mixtes (F)

Effectuez chaque opération.

54 18 252 4 3198 270 234 7 18
18 x 18 + 18 x 18 x 18 = 18 ~ 18 = 18 x 18 x 11
18 18 144 18 18 198 90 18 162 7
18 ~ 18 + 18 x 3 x 11 18 =~ 18 = 18 = 18 x_ 18
72 18 36 18 144 18 19 15 2 342
18 x_ 11 18 x 5 + 18 1 18 x 18 x 18 = 18
324 18 18 18 72 18 9 180 180 288
18 x_ 12 9 x 14 + 18 x 13 x 18 = 18 = 18 = 18
18 18 126 16 270 54 324 18 288 18
18 ~ 18 ~ 18 x_ 18 =~ 18 = 18 = 18 x_ 13 = 18 7
108 18 72 1 162 270 18 18 216 324
18 2+ 18 x 18 = 18 =+ 18 3 18 ~ 18 = 18
18 18 126 13 360 18 8 126 234 19
12 x 10 =~ 18 x_ 18 = 18 1 18 =~ 18 = 18 x_ 18
126 18 162 54 90 198 12 198 18 18
18 x 12 = 18 = 18 = 18 = 18 x 18 = 18 x 17 x_ 18
18 234 54 17 9 180 126 198 20 18
6+ 18 ~ 18 x 18 x 18 ~ 18 = 18 = 18 x 18 x 11
288 18 3 18 16 18 18 14 18 18
- 18 8 x 18 x 12 x 18 x 10 x 14 x 18 x 16 = 18
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Opérations Mixtes Solutions (F)

X

Effectuez chaque opération.

54 18 252 4 3198 270 234 7 18
18 18 — 18 x 18 x 18 18 — 18 = 18 18 11
3 324 4 72 54 11 15 13 126 198
18 18 144 18 18 198 90 18 162 7
18 18 ~ 18 x 3 x 11 18 18 18 18 18
324 1 8 54 198 11 5 1 9 126
72 18 36 18 144 18 19 15 2 342
18 11 ~ 18 x 5 =+ 18 1 18 18 18 ~ 18
4 198 2 90 8 18 342 270 36 19
324 18 18 18 72 18 9 180 180 288
18 12 x 9 x 14 + 18 13 18 18 18 ~ 18
18 216 162 252 4 234 162 10 10 16
18 18 126 16 270 54 324 18 288 18
18 18 ~ 18 x 18 =+ 18 18 18 13 ~ 18 7
324 1 7 288 15 3 18 234 16 126
108 18 72 1 162 270 18 18 216 324
18 2 - 18 x 18 ~ 18 + 18 3 18 ~ 18 =+ 18
6 36 4 18 9 15 54 324 12 18
18 18 126 13 360 18 8§ 126 234 19
12 10 -~ 18 x 18 =+ 18 1 18 18 = 18 18
216 180 7 234 20 18 144 7 13 342
126 18 162 54 90 198 12 198 18 18
18 12+~ 18 ~ 18 = 18 18 18 18 17 18
7 216 9 3 5 11 216 11 306 324
18 234 54 17 9 180 126 198 20 18
6 - 18 = 18 x 18 x 18 18 18 18 18 11
108 13 3 306 162 10 7 11 360 198
288 18 3 18 16 18 18 14 18 18
18 8§ x 18 x 12 x 18 10 14 18 16 18
16 144 54 216 288 180 252 252 288 1
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Opérations Mixtes (G)

Effectuez chaque opération.

17 90 6 18 18 11 7 306 18 18

18 18 18 x 12 x 16 x 18 x 18 =+ 18 13 18

2 4 36 216 144 54 14 18 18 11

18 18 18 - 18 = 18 + 18 x 18 3 20 18
180 18 18 2 18 17 7 20 18 288
18 20 3 x 18 x 10 x 18 x 18 18 18 =~ 18
108 36 11 18 18 18 216 18 324 162
18 18 I8 x 11 x 3 x 7 + 18 15 =+ 18 18
288 144 54 162 1 144 18 54 144 288

= 18 18 18 = 18 x 18 =+ 18 x_ 20 18 18 =~ 18
5 360 3 18 7 198 5 198 18 72

18 = 18 18 x 20 x_ 18 =+ 18 x_ 18 18 19 18
162 252 18 144 54 216 18 18 360 19
18 =+ 18 15 =~ 18 = 18 = 18 x 18 3 + 18 18
270 54 8 108 216 2 288 13 1 18

=~ 18 18 18 - 18 = 18 x 18 + 18 18 18 7
306 36 108 234 18 18 15 342 162 18

= 18 18 18 =~ 18 = 18 = 18 x 18 + 18 18 3
126 72 18 18 72 14 36 18 8 18
18 18 7 x 4+ 18 x 18 + 18 5 18 6
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Opérations Mixtes Solutions (G)

Effectuez chaque opération.

17 90 6 18 18 11 7 306 18 18

x 18 = 18 x 18 x 12 x 16 x 18 x 18 = 18 x 13 - 18
306 5 108 216 288 198 126 17 234 1
2 4 36 216 144 54 14 18 18 11

x 18 x 18 = 18 = 18 = 18 = 18 x 18 X 3 x 20 x 18
36 72 2 12 8 3 252 54 360 198
180 18 18 2 18 17 7 20 18 288

— 18 x 20 x 3 x 18 x 10 x 18 x 18 x 18 x 18 + 18
10 360 54 36 180 306 126 360 324 16

108 36 11 18 18 18 216 18 324 162
~ 18 + 18 x 18 x 11 x 3 x 7 + 18 x 15 + 18 + 18

6 2 198 198 54 126 12 270 18 9

288 144 54 162 1 144 18 54 144 288
-~ 18 = 18 = 18 = 18 x 18 = 18 x 20 = 18 = 18 = 18
16 8 3 9 18 8 360 3 8 16

5 360 3 18 7 198 5 198 18 72

x 18 = 18 x 18 x 20 x 18 = 18 x 18 = 18 x 19 = 18
90 20 54 360 126 11 90 11 342 4

162 252 18 144 54 216 18 18 360 19
~ 18 =+ 18 x 15 =+ 18 = 18 = 18 x 18 x 3 + 18 x 18

9 14 270 8 3 12 324 54 20 342

270 54 8 108 216 2 288 13 1 18
-~ 18 = 18 x 18 = 18 = 18 x 18 = 18 x 18 x 18 x 7
15 3 144 6 12 36 16 234 18 126

306 36 108 234 18 18 15 342 162 18
-~ 18 = 18 = 18 = 18 = 18 = 18 x 18 = 18 = 18 x 3

17 2 6 13 1 1 270 19 9 54
126 72 18 18 72 14 36 18 8 18
-~ 18 = 18 x 7T X 4 - 18 x 18 = 18 x 5 x 18 X 6
7 4 126 72 4 252 2 90 144 108
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Opérations Mixtes (H)

Effectuez chaque opération.

1 198 18 252 324 270 216 252 18 18

x 18 18 20 +~ 18 = 18 + 18 =+ 18 =+ 18 18 16
18 144 18 7 324 9 36 180 18 16

x 1 18 8 x 18 + 18 18 18 18 13 18
180 18 126 18 288 18 198 180 288 18
=~ 18 16 18 x 2 =+ 18 16 18 18 =~ 18 13
324 18 306 18 12 6 18 288 14 18
=~ 18 2 +- 18 x 9 x 18 18 8 =~ 18 18 9
324 20 2 2 18 10 18 5 306 108
+— 18 18 18 x 18 x 5 18 6 18 =~ 18 18
3 18 18 18 18 72 18 7 216 360

x 18 11 20 x 20 x_ 11 18 18 18 =~ 18 = 18
18 18 126 180 11 342 18 18 342 108

x 18 3 18 +- 18 x 18 + 18 3 11 - 18 18
198 20 18 252 90 234 144 9 18 18
=~ 18 18 15 =~ 18 = 18 = 18 18 18 18 13
270 288 18 2 18 2 180 18 18 108
+~ 18 + 18 I5 x 18 x 8 18 18 3 15 18
18 288 18 270 18 90 270 54 18 18

x 18 + 18 18 =~ 18 x 18 18 =~ 18 18 9 18
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Opérations Mixtes Solutions (H)

Effectuez chaque opération.

1 198 18 252 324 270 216 252 18 18

X 18 I8 x 20 - 18 = 18 = 18 =— 18 = 18 18 16
18 11 360 14 18 15 12 14 324 288

18 144 18 7 324 9 36 180 18 16

X 1 18 x 8 x 18 = 18 x 18 = 18 = 18 13 18
18 8 144 126 18 162 2 10 234 288
180 18 126 18 288 18 198 180 288 18

- 18 16 - 18 x 2 - 18 x 16 - 18 = 18 = 18 13
10 288 7 36 16 288 11 10 16 234
324 18 306 18 12 6 18 288 14 18

- 18 2 = 18 x 9 x 18 x 18 x 8 — 18 18 9
18 36 17 162 216 108 144 16 252 162
324 20 2 2 18 10 18 5 306 108

- 18 18 x 18 x 18 x 5 x 18 x 6 x 18 =« 18 18
18 360 36 36 90 180 108 90 17 6

3 18 18 18 18 72 18 7 216 360

x 18 11 x 20 x 20 x 11 = 18 =- 18 x 18 = 18 = 18
54 198 360 360 198 4 1 126 12 20

18 18 126 180 11 342 18 18 342 108

X 18 3 - 18 = 18 x 18 = 18 X 3 x 11 = 18 18
324 54 7 10 198 19 54 198 19 6
198 20 18 252 90 234 144 9 18 18

= 18 18 x 15 - 18 - 18 —- 18 = 18 x 18 18 13
11 360 270 14 5 13 8 162 324 234
270 288 18 2 18 2 180 18 18 108

-~ 18 = 18 x 15 x 18 x 8 x 18 = 18 X 3 15 18
15 16 270 36 144 36 10 54 270 6

18 288 18 270 18 90 270 54 18 18

X 18 = 18 = 18 = 18 x 18 = 18 = 18 = 18 9 18
324 16 1 15 324 5 15 3 162 324
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Opérations Mixtes (I)

Effectuez chaque opération.

18 162 198 18 18 8 126 270 72 18

x 12 18 18 x 8 X 4 x 18 18 — 18 18 3
18 18 18 18 360 306 4 8 72 7

X 4 18 19 x 2~ 18 = 18 18 18 18 18
36 18 18 198 198 72 7 54 144 360

- 18 16 18 - 18 —- 18 = 18 18 18 18 = 18
16 234 18 234 18 36 324 180 90 36

x 18 = 18 2 = 18 x 7 + 18 = 18 18 18 18
6 216 126 20 2 270 18 2 126 18

x 18 = 18 18 x 18 x 18 = 18 17 18 18 16
7 18 14 18 90 18 11 234 2 72

x 18 15 18 x 20 - 18 x 6 18 =~ 18 18 18
234 1 18 18 18 306 15 324 17 288
- 18 18 14 x 14 x 14 = 18 18 — 18 18 = 18
126 108 288 360 90 72 3 11 198 18
- 18 18 =~ 18 = 18 = 18 = 18 18 18 18 1
126 216 54 10 18 270 360 288 270 54
-~ 18 + 18 18 x 18 x 9 - 18 =~ 18 = 18 = 18 18
90 18 18 18 18 90 18 72 13 360

- 18 5 6 x 20 - 18 = 18 18 18 18 = 18
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Opérations Mixtes Solutions (I)

Effectuez chaque opération.

18 162 198 18 18 8 126 270 72 18

x 12 18 - 18 x 8 X 4 x 18 - 18 = 18 18 3
216 9 11 144 72 144 7 15 4 54
18 18 18 18 360 306 4 8 72 7

X 4 18 x 19 x 2 ~ 18 - 18 x 18 x 18 18 18
72 1 342 36 20 17 72 144 4 126

36 18 18 198 198 72 7 54 144 360

- 18 16 - 18 - 18 = 18 = 18 x 18 = 18 18 — 18
2 288 1 11 11 4 126 3 8 20

16 234 18 234 18 36 324 180 90 36

x 18 = 18 X 2 — 18 x 7 — 18 - 18 = 18 18 18
288 13 36 13 126 2 18 10 5 2

6 216 126 20 2 270 18 2 126 18

x 18 = 18 - 18 x 18 x 18 =— 18 x 17 x 18 18 16
108 12 7 360 36 15 306 36 7 288

7 18 14 18 90 18 11 234 2 72

x 18 15 x 18 x 20 = 18 x 6 x 18 = 18 18 18
126 270 252 360 5 108 198 13 36 4
234 1 18 18 18 306 15 324 17 288

- 18 18 x 14 x 14 x 14 - 18 x 18 = 18 18 — 18
13 18 252 252 252 17 270 18 306 16
126 108 288 360 90 72 3 11 198 18

- 18 18 - 18 - 18 —- 18 =- 18 x 18 x 18 18 1
7 6 16 20 5 4 54 198 11 18

126 216 54 10 18 270 360 288 270 54

-~ 18 = 18 = 18 x 18 x 9 - 18 - 18 — 18 = 18 18
7 12 3 180 162 15 20 16 15 3

90 18 18 18 18 90 18 72 13 360

- 18 5 x 6 x 20 - 18 = 18 = 18 = 18 18 — 18
5 90 108 360 1 5 1 4 234 20
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Opérations Mixtes (J)

Effectuez chaque opération.

20 342 234 72 216 18 18 16 90 18

18 =~ 18 ~ 18 ~ 18 = 18 + 18 x 16 x 18 = 18 x 16

14 2 90 6 72 19 342 288 252 144

18 x 18 + 18 x 18 + 18 x 18 = 18 = 18 = 18 = 18
360 324 108 18 18 14 270 7 18 14
18 =~ 18 = 18 x 15 x_ 19 x 18 = 18 x 18 x 15 x_ 18

18 17 18 270 18 270 9 5 324 18

12 x 18 x 20 + 18 x 13 = 18 x 18 x 18 = 18 x 10
288 234 14 18 36 36 18 18 108 18

. 18 = 18 x 18 x 11 = 18 = 18 x_ 16 9 = 18 8
144 11 234 162 360 20 20 108 18 18
18 x 18 + 18 = 18 = 18 x 18 x 18 = 18 8 x_ 20
216 8§ 234 18 18 126 162 18 18 306

. 18 x 18 + 18 x 18 x I = 18 = 18 x 15 1 + 18
18 18 8 216 216 324 16 90 18 1

15 4 x 18 + 18 + 18 + I8 x I8 = I8 x 12 x I8
360 17 3 13 10 18 16 9 252 18

. 18 x 18 x 18 x 18 x 18 x 16 x 18 x 18 = 18 x_ 10
360 162 18 18 10 18 20 18 18 15

. 18 + I8 x 14 + 18 x 18 x 11 x 18 x 17 5 x 18
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Opérations Mixtes Solutions (J)

X

X

Effectuez chaque opération.

20 342 234 72 216 18 18 16 90 18
18 - 18 =— 18 = 18 = 18 = 18 x 16 x 18 18 16
360 19 13 4 12 1 288 288 5 288
14 2 90 6 72 19 342 288 252 144
18 18 - 18 x 18 - 18 x 18 = 18 =— 18 = 18 18
252 36 5 108 4 342 19 16 14 8
360 324 108 18 18 14 270 7 18 14
18 = 18 = 18 x 15 x 19 x 18 = 18 x 18 15 18
20 18 6 270 342 252 15 126 270 252
18 17 18 270 18 270 9 5 324 18
12 18 x 20 - 18 x 13 = 18 x 18 x 18 = 18 10
216 306 360 15 234 15 162 90 18 180
288 234 14 18 36 36 18 18 108 18
18 - 18 x 18 x 11 = 18 = 18 x 16 x 9 18 8
16 13 252 198 2 2 288 162 6 144
144 11 234 162 360 20 20 108 18 18
18 18 - 18 =— 18 = 18 x 18 x 18 = 18 8 20
8 198 13 9 20 360 360 6 144 360
216 8 234 18 18 126 162 18 18 306
18 18 - 18 x 18 x 1 - 18 = 18 x 15 1 - 18
12 144 13 324 18 7 9 270 18 17
18 18 8 216 216 324 16 90 18 1
15 4 x 18 - 18 - 18 —- 18 x 18 = 18 12 18
270 72 144 12 12 18 288 5 216 18
360 17 3 13 10 18 16 9 252 18
18 18 x 18 x 18 x 18 x 16 x 18 x 18 = 18 10
20 306 54 234 180 288 288 162 14 180
360 162 18 18 10 18 20 18 18 15
18 18 x 14 =- 18 x 18 x 11 x 18 x 17 5 18
20 9 252 1 180 198 360 306 90 270
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